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Tinh tong hai s6 hang

Ho va Tén:

Pién vao chd trong dé can bang phép tinh.

D 18+1+1=20

18+ =20
3) 1+7+1=9
1+ =9

5) 15+1+2=18
15+ =18

N 10+1+5=16
+5=16

9 15+3+2=20
+2=20

1) 16+1+1=18
+1=18

13) 11+1+5=17
11+ =17

2) 12+1+6=19
12+ =19

49 11+2+3=16
+3=16

6) 3+11+2=16
+2=16

8) 16+1+3=20
+3=20

10) 3+154+2=20
3+ =20

12) 2+6+2=10
2+ =10

14) 10+1+5=16
10+ =16

Cau tra loi

10.

11.

12.

13.

14.
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Tinh tong hai s6 hang

Ho va Tén: Loi gifli

Pién vao chd trong dé can bang phép tinh.

D 18+1+1=20
18+ 2 =20

3) 1+7+1=9
1+ 8 =9

5) 15+1+2=18
15+ 3 =18

D 10+1+5=16
I1T +5=16

9 15+3+2=20
18 +2=20

) 16+1+1=18
17 +1=18

13) 11+1+5=17
11+ 6 =17

2) 12+14+6=19
12+ 7 =19

9 11+2+3=16
13 +3=16

6) 3+11+2=16
14 +2=16

8 16+1+3=20
17 +3=20

10) 3+154+2=20
3+ 17 =20

12) 2+6+2=10
2+ 8 =10

14) 10+1+5=16
10+ 6 =16

Cau tra loi

1. 2
2. 7
; 8
s 13
; 3
6 14
; 11
g 17
9. 18
10. 17
h 17
12. 5;
13. (;
14 6
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